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QUESTION 1

A CX4 has a storage group configured with LUNs and registered Solaris HBAs. What is the correct sequence of steps to
mount the newly allocated LUNs? 

Select and Place: 
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Correct Answer: 
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QUESTION 2

Which Connectrix B-series switch provides a maximum of 8 Gb/s connectivity per port? 

A. DS-5300B 

B. ED-48000B 

C. DS-4900B 

D. DS-5000B 

Correct Answer: A 

 

QUESTION 3

During the discovery phase of the Array Initialization Utility, what do you use to identify the array you want to configure? 

A. Serial number 

B. MAC address 

C. World Wide Name 

D. Controller/target/LUN 

Correct Answer: D 

 

QUESTION 4

An array has just experienced a complete loss of power to one of their racks, causing an SP to fail. Once power is
restored, although data can still be accessed, latency in retrieving data has increased. Which setting is most likely
causing this to happen? 

A. Verify priority 

B. Rebuild priority 

C. Initial verify 

D. Compression 

Correct Answer: A 

 

QUESTION 5

What is the maximum number of storage systems supported per domain by Unisphere? 

A. 100 

B. 80 
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C. 40 

D. 120 

Correct Answer: A 

Latest E20-340 Dumps E20-340 VCE Dumps E20-340 Practice Test

Powered by TCPDF (www.tcpdf.org)

Latest E20-340 Dumps | E20-340 VCE Dumps | E20-340 Practice Test                                5 / 5

https://www.geekcert.com/e20-340.html
https://www.geekcert.com/e20-340.html
https://www.geekcert.com/e20-340.html
http://www.tcpdf.org
https://www.geekcert.com/e20-340.html
https://www.geekcert.com/e20-340.html
https://www.geekcert.com/e20-340.html

